CERAPLUS (B9225A)

s (Udeal

STANDARD

27

0 G;‘Eq—

15 16
150213
Spare Spare

Pos. Signify parts-Nr Quantity Pos Signify parts-Nr Quantity
1 Lever 120mm,w/logo ISI- B960686AA 1 Pcs. 19 Escutcheon-compl. B960365AA 1 Pcs.

red/blue inserts-compl. 20 Nipple M19x1.5LH 2 Pcs.
2;2' Screw M5x10 1 Pcs. 21 O-Ring & 15.6x1.78 2 Pcs.
3 Cap decorative B960473AA 1 Pcs. 22 Nut G3/4 2 Pcs.
4 Cap,w/O-ring B960368AA 1 Set 23 Fibre washer for 2 Pcs.
5 O-Ring @ 40x1 1 Pcs. non return valve
6 Volume stop A860700NU 1 Pcs.
7 Screw M4x39 3 Pcs.
8 Cartridge @ 47mm A960500NU 1 Pcs.
9 O-Ring-set 1 Set
10 Body wall mounted basin mixer 1 Pcs.
11 Fixation kit B960573NU 1 Set
12 Sealing set B960574NU 1 Set
13 Oval-head screw M4x10  A960474NU 2 Pcs.
14 Rubber cap D=8.1x3 1 Pcs.
15 Screw M5x5.5 1 Pcs.
16 Fixed and swivel spout 1 Pcs.

for washbasin 200mm
17 Aerator anti-vandal B960568AA 1 Pcs.

M24x1-A,laminar
18 S-connection-compl. B960647AA 1 Set




